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Plot Sensor and FgRec Data
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m=485, FV0=0 m=575, FV0=0 m=630, FV0=0

51 o WE 27. 4 - 27.90 o— wE | 2871 o N
27. 85
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hour

8:45

10:00

11:25

13:30

15:15

100

80

60

40

20



P3-12

Bfig) | JEBEATIC (FD) | EBRE (BFH/HR) | XS EFE

08:45 210 50.0 |Z & B3i1%@08:45 (KFERHE)
10:00 210 50.0 A ’Ri1%@10:00 (KkBfEREE)
11:25 210 50.0 ] Rige11:25 (KRBAERE)
13:30 210 50.0 ] Bi%@13:30 (RRAERHE)
15:15 210 50.0 |Z= BRige15:15 (kKBfERE)
2it]1050.0 (5)%) 250.0 3EHKEC: 1560.0, PH: 5.6

LRGSR (210.0) 578 (91. 0) A FF, FIREER T % MEERSE XER

ZRIASLPRIERE116.0 ml.

large discrepency for begining water status (15:111.0), set to 35.0 ml.




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-12_0, Day=2 (2025-04-04)
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m=485, FV0=0 m=575, FV0=0 m=630, FV0=0
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